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In(x*=3), x>2

X < 2BF, f'(x)=(3x° —8x+4) =6x-8,

x> 20, f'(x)=(In(x*=23))= 22X3,

X=2EFJ‘, s _2

£(x)= lim f(x)—f(2)= i 3X“—8x+4-0
X—2" X—2 X—2~ X—2
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fJ:(X)= im f(x)— 1(2) T In(x=—-3)-0
Xx—2F X—2 x—2* X—2
2 2/,
_ fim A+ (X =4) _ iy X 24y,
x—2F X—2 x—2t X—2
SEERE
(6X—8, X<2
f'(x) =1
(X) 22x 32
X =3
(3x2—8X+4 X< 2,
f(X) =
In(x*=3), x=>2
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sin X

B3 Ry=x*" KSE
R REAXMBREE: y=x", u=x"X

M u'= (Xsmx)' = XSi”X(sin X In x)’

= x*"*(cos xIn X +Si0X),

mu y'= Xxsmx (Xsz In X)r

sin X

— y X ((XSinX)'h’lX+XSinX(|nX)')

— smx(( S'nX(COSX|nX+Smx))|nx+x5'”x 1)

sin X
=x* x*"*(cos x In? x+5'”X

1
Inx+-).
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B4 ROFEL TR r=a(l+cosp) HIFE %
i RUANSHITIE:

{x =a(1+ cose)cose,

_ —A<@< 7,
y =a(l+cose)sing,

AN x'=—a(sin¢+sin2¢)=—2asing¢cos%,
: 3 @
y'=a(cose@ +Ccos2¢)= 2acos§¢cos?
Bt PA dy _ Y =—C0t§(o (p #0, qo#ign).
dx X 2 3
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#I5 ¥ f(X)=x(X-1)(x-2)---(x—-99), sk f'(0).

B Jiik1 AHSHE X

£(0) = lim+X) = 10)
x—0 X -0

= 1im (x=1)(X = 2)-++(x—99)= —99!

k2 AAHR=ZAR.

f'(X) =(x)"(x-1)(x=2)---(x—99)]
+X[(x=1)(x—=2)---(x—-99)]
f'(0)=-99!.
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r =2asin@(a>0) 4F
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r =2asin@(a>0)
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PE—RUVIRSRERRAN 0
(5)H, tang = (?) r'(@) = 2acosé,

T
= tan @, 9;&5.
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